
1 
 

 INTERMEDIATE EXAMINATION – 2024 

ANNUAL ( ) 

 BIOLOGY (ELECTIVE) 

Total No. of questions – 70 + 20 + 6 = 96 
dqy iz’uksa dh la[;k & 70 $ 20 $ 6 ¾ 96

Instructions for the candidates : 

1- ijh{kkFkhZ OMR mÙkj&i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA 

Candidate must enter his/her Question Booklet Serial No. (10 

digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answers in their own words as 

far as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 70 
iw.kkZad & 70 

Sub. Code - 119 
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15 minutes of extra time have been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u iqfLrdk nks [k.Mksa esa gS&  ,oa  

This question booklet is divided into two sections- Section-A and 

Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz’uksa ls vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu 

gksxkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy;s miyC/k 

djk;s x;s OMR mÙkj&i=d esa fn;s x;s lgh fodYi dks uhys@dkys ckWy isu 

ls izxk<+ djsaA fdlh Hkh izdkj ds ºokbVuj@rjy inkFkZ@CysM@uk[kwu vkfn 

dk OMR mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; 

gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only first 35 will be evaluated. Each question 

carries 1 mark. For answering these darken the circle with 

blue/black ball pen against the correct option on OMR Answer-

sheet provided to you. Do not use whitener/liquid/blade/nail etc. on 

OMR Answer-sheet, otherwise the result will be treated invalid. 

7- [k.M&c esa 20 y?kqmÙkjh; iz’u gSaA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gS] 

ftuesa ls fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 
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06 nh?kZ mÙkjh; iz’u Hkh fn;s x;s gSaA izR;sd ds fy, 05 vad fu/kkZfjr gSa] ftuesa 

ls fdUgha 3 iz’uksa ds mÙkj nsuk vfuok;Z gSA  

In Section-B, there are 20 Short answer type questions. Each  

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from these, there are 6 Long answer type 

questions, each carrying 5 marks, out of which any 3 questions are 

to be answered.  

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

SECTION –A 

Objective Type Questions 

iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn;s x;s gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR 'khV ij fpfàr djsaA fdUgha 35 

iz’uksa dk mÙkj nsaA         35 x1 = 35 

Question Nos.- 1 to 70 have four options, out of which only one is 

correct. You have to mark your selected option on the OMR-Sheet. Answer 

any 35 questions.        35 x1 = 35 

1- fuEufyf[kr esa ls fdl ikS/ks ds ifÙk;ksa ls viLFkkfud dfydk,¡ fodflr gksrh gSa \ 

(A) vnjd     (B) dsyk 

(C) Mkgfy;k     (D) czk;ksfQye 

In which of the following plants adventitious buds develop from leaves? 

 (A) Ginger     (B) Banana 

 (C) Dahlia     (D) Bryophyllum 
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2- fuEufyf[kr esa ls fdu thoksa esa v)Zlw=h foHkktu] ;qXed ds fuekZ.k esa ugha gksrk gS\ 

 (A) vxqf.kr tho    (B) f}xqf.kr tho 

 (C) euq";     (D) fpEiSath 

 In which of the following organism meiosis does not occur during 

gamete formation ? 

 (A) Haploid organism   (B) Diploid organism 

 (C) Human     (D) Chimpanzee 

3- fuEufyf[kr esa dkSu vlR; dFku gS \ 

 (A) fu"kspu ds i'pkr~ chtk.M cht esa fodflr gksrs gSaA 

 (B) ljhlÌk ,oa i{kh v.Mt ¼vksohiSjl½ gSaA 

 (C) dsapqvk mHk; fyaxkJ;h gksrs gSaA 

(D) gkbMªk esa eqdqyd curs gSaA 

 Which of the following statements is incorrect ? 

 (A) Ovules develop into seeds after fertilization 

 (B) Reptiles and birds are oviparous 

 (C) Earthworm is monoecious 

 (D) Gemmule formation occurs in Hydra 

4- dkyh fepZ dss cht esa vof’k"V mifLFkr chtk.Mdk; dks D;k dgrs gSa \ 

 (A) pyktksLieZ    (B) Hkzw.kiks"k 

 (C) L;wMks Hkzw.k dks"k    (D) ifjHkzw.kiks"k 

In seeds of pepper, remnant of nucellus persists, which is called as --. 
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 (A) Chalazosperm   (B) Endosperm 

 (C) Pseudo embryo sac  (D) Perisperm 

5- fu"kspu ds i'pkr~ vaMk’k; dh nhokj fdlesa fodflr gksrh gS \ 

 (A) ,ihdkiZ     (B) cht 

 (C) estksdkiZ     (D) QyfHkfÙk 

 After fertilization, wall of ovary develops into which structure ? 

 (A) Epicarp     (B) Seed 

 (C) Mesocarp    (D) Pericarp 

6- ;fn cht dk fuekZ.k fcuk fu"kspu ds gksrk gS rks bls D;k dgrs gSa \ 

 (A) ,EQhehfDll ¼laxtuu½  (B) vlaxtuu 

 (C) vfu"ksdtfur Qy   (D) vfu"ktuu 

 If production of seeds occurs without fertilization, it is called as ---- . 

 (A) Amphimixis    (B)  Apomixis 

 (C) Parthenocarpy   (D) Parthenogenesis 

7- ijkx d.k thok’e ds :Ik esa vPNs ls lajf{kr jgrs gSa D;ksafd 

 (A) ijkx d.k esa fHkfÙk gS    

(B) fHkfÙk esa Liksjksiksysfuu dk cká pksy gS 

 (C) fHkfÙk esa isDVks lssY;wykst dk var% pksy gS 

 (D) fHkfÙk esa lssY;wykst gSA 

 Pollen grains are well preserved as fossils because ---. 

 (A) Pollen grain has a wall   
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(B) Wall has exine of sporopollenin 

 (C) Wall has intine of pectocellulose 

 (D) Wall has cellulose  

8- fuEufyf[kr esa ls dkSu dksf’kdk vxqf.kr ugha gS \ 

 (A) 'kqØk.kqtu dksf’kdk   (B) 'kqØk.kqiwoZ 

 (C) f}rh;d 'kqØk.kq dksf’kdk  (D) 'kqØk.kq 

 Which of the following cells is not haploid ? 

 (A) Spermatogonia   (B) Spermatid 

(C) Secondary spermatocyte  (D) Spermatozoon 

9- fuEufyf[kr esa ls dkSu xksuSMksVªkWfiu fjyhftax gkeksZu dk lzo.k djrk gS \ 

 (A) v.Mk’k;     (B) ò"k.k 

 (C) i'p ih;w"k xzafFk    (D) v/k’psrd 

 Which of the following secretes gonadotropin releasing hormone ? 

 (A) Ovary     (B) Testis 

 (C) Posterior pituitary gland  (D) Hypothalamus 

10- fuEufyf[kr esa ls fdl fØ;k ds i'pkr~ v.MksRlxZ gksrk gS \ 

 (A) GnRH dss lzo.k dss i'pkr~  (B) QhMcSd fu"ks/k 

 (C) ,y ,p ltZ    (D) izkstsLVsjkWu ds lzo.k ds i'pkr~ 

 Ovulation occurs after which of the following process ? 

 (A) After secretion of GnRH  (B) Feedback inhibition 

 (C) LH surge    (D) After secretion of progesterone 
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11- lkekU;r% xHkZ dh igyh xfr’khyrk] xHkkZoLFkk ds fdl ekg esa ns[kh tkrh gS \ 

 (A) rhljk     (B) pkSFkk 

 (C) ik¡pok     (D) nwljk 

Normally the first movement of foetus is observed in which month of 

pregnancy ? 

 (A) Third     (B) Fourth 

 (C) Fifth     (D) Second 

12- iq#"kksa }kjk LFkk;h rkSj ij xHkkZoLFkk jksdus ds fy, fuEufyf[kr esa ls fdl rjhdk dk 

iz;ksx gksrk gS \ 

 (A) ulcanh     (B) V~;wcsDVkseh 

 (C) cU/;kdj.k    (D) fpfdRlh; lxHkZrk lekiu 

Which of the following methods is used to prevent pregnancy 

permanently in male ? 

 (A) Vasectomy     

(B) Tubectomy 

 (C) Sterilisation     

(D) Medical termination of pregnancy  

13- fuEufyf[kr esa ls dkSu ;kSu lapkfjr jksx iw.kZr;k mipkj ;ksX; gS \ 

 (A) gsisVkbfVl & B    (B) ,M~l 

 (C) tsukbVy gjfil   (D) flfQyhl 
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Which of the following sexually transmitted diseases is completely 

curable ? 

 (A) Hepatitis - B    (B) AIDS 

 (C) Genital Herpes   (D) Syphilis 

14- ;qXeut ;k izkjafHkd Hkzw.k ds QSyksih ufydkvksa esa LFkkukarj.k dkss D;k dgrs gSa \ 

 (A) vkbZ Hkh ,Q    (B) b-Vh 

 (C) tsM vkbZ ,Q Vh   (D) vkb ;w Vh 

Transfer of either zygote or early embryo to fallopian tube is called 

as………. 

 (A) IVF     (B) ET 

 (C) ZIFT     (D) IUT 

15- esaMy }kjk laikfnr ,dy ladj Økl dk F2 thuksVkbi vuqikr D;k gS \ 

 (A) 3 % 1     (B) 1 % 2 % 1 

 (C) 9 % 3 % 3 % 1    (D) 1 % 1 

Which one is Genotypic ratio of F2 generation of monohybrid cross 

conducted by Mendel ? 

 (A) 3 % 1     (B) 1 % 2 % 1 

 (C) 9 % 3 % 3 % 1    (D) 1 % 1 

16- fuEufyf[kr esa dkSu dFku fQukby fdVksU;wfj;k ds ckjs esa vlR; gS \ 

 (A) tUetkr mikip;h =qfV   

(B) vfyax Øksekslkse vizHkkoh y{k.k 
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 (C) fQukby ,syssuhu ,oa fQukby ik;:osV dh mPp lkanzrk   

 (D) fQukby ,sysuhu ,oa fQukby ik;:osV dk òDd }kjk mRlftZr ugha djuk  

 Which of following statements is incorrect about phenylketonuria ? 

 (A) Inborn  error of metabolism 

 (B) Autosomal recessive trait 

 (C) High level of phenylalanine and phenylpyruvate 

 (D) Phenylalanine and phenylpyrurate are not excreted by kidney.  

17- essaMy ds vuqlkj] dksbZ ^oLrq* vifjofrZr :Ik esa tud ls larfr dks ;qXedksa ds ek/;e 

ls mÙkjksÙkj ihf<+;ksa esa vxzlkfjr gksrh gS ftls mUgksaus D;k dgk \ 

 (A) dkjd     (B) thu 

 (C) ,yhy     (D) flLVªkWu 

According to Mendel, something is stably passed down unchanged 

from parent to offspring through the gametes, which was referred as - 

 (A) Factor     (B) Gene 

 (C) Allele     (D) Cistron 

18- fuEufyf[kr esa ls fdlesa XO & uj izdkj dk fyax fu/kkZj.k fØ;k fof/k gksrk gS \ 

 (A) fVM~Mk     (B) e/kqeD[kh 

 (C) euq";     (D) i{kh 

In which of the following XO – Male type of sex determination is 

observed ? 

 (A) Grasshopper    (B) Honey bee 
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 (C) Human     (D) Birds 

19- Mh ,u , ds ikWyhU;wfDy;ksVkbM J̀a[kykvksa dk vk/kkj fdlls cuk gksrk gS \ 

 (A) 'kdZjk&QkLQsV&{kkj   (B) QkLQsV&{kkj 

 (C) 'kdZjk&QkWLQsV    (D) {kkj ;qXedksa dk <sj ¼LVSd½ 

Backbone of polynucleotide chains of DNA is composed of which of the 

following ? 

 (A) Sugar-phosphate-base  (B) Phosphate-base 

 (C) Sugar-phosphate   (D) Stack of paired bases 

20- lsUVªy MksXek ¼ewy fl)kar½ dks fdlus izfrikfnr fd;k \ 

 (A) okVlu     (B) fØd 

 (C) foyfdUl     (D) vkj QSadfyu 

 Who propounded Central Dogma ? 

 (A) Watson     (B) Crick 

 (C) Wilkins     (D) R. Franklin 

21- U;wfDy;kslkse esa mifLFkr izksVhu ds ckjs esa fuEufyf[kr esa ls dkSu lk dFku lR; ugha 

gS \ 

 (A) uu fgLVksu (Non-histone)  (B) fgLVksu 

 (C) {kkjh; izksVhu    (D) /kukRed vkosf’kr izksVhu 

Which of the following statements, is not true about protein present in 

nucleosome ? 

 (A) Non-histone    (B) Histone 
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(C) Basic protein    (D) Positively charged protein 

22- :ikarfjr fl)kar dk tho jklk;fud izd`fr dk irk fdlds }kjk yxk;k x;k \ 

 (A) fxzQhFk     (B) yhMjcxZ ,oa VkVe 

 (C) ,osjh] eSdfyvksM ,oa eSddkVhZ  (D) glhZ ,oa pst 

 Biochemical nature of transforming principle, was determined by  

 (A) Griffith      

(B) Lederberg and Tatum 

 (C) Avery, Mac Leod and Mc Carty 

 (D) Hershey and Chase 

23- fuEufyf[kr dFkuksa esa vkj ,u , ds ckjs esa xyr dFku dkSu gS \ 

(A) vkj ,u , ,d ikWyhU;wfDy;ksVkbM J̀a[kyk dk cuk gksrk gS  

(B) vkj ,u , esa ;wjklhy gS 

(C) vkj ,u ,] Vh ,e oh ¼TMV½ esa vkuqoaf’kd inkFkZ gSA    

(D) vkj ,u , ds izR;sd U;wfDy;ksVkbM esa 2^OH lewg dh mifLFkfr vkj ,u , dks 

LFkkf;Ro nsrk gSA 

 Which of the following statements about RNA is incorrect ? 

 (A) RNA has one polynucleotide strand 

 (B) Uracil present in RNA 

(C) RNA is genetic material in TMV.     

(D) Presence of 2’OH in every nucleotide of RNA imparts stability to 

RNA  
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24- Mh ,u , izfrdf̀r esa ,d yM+h dk vlrr~&izfrd`fr gksrh gS ftlds [k.Mksa dks dkSu 

tksM+rk gS \ 

 (A) Mh ,u , ikWyksesjst   (B) Mh ,u , ykbxst 

 (C) izkbest     (D) vkj ,u , ikWyhesjst 

One of strands of DNA is discontinuously replicated and these 

fragments are joined by which of the following ? 

 (A) DNA polymerase   (B) DNA ligase 

 (C) Primase    (D) RNA polymerase 

25- vkj ,u , ikWyhesjst III fdlds la’ys"k.k ds fy, mÙkjnk;h ugha gS \ 

 (A) hn RNA ¼fo"kekaxh dsanzdh; vkj ,u ,½  

(B) t  RNA ¼varj.k vkj ,u ,½ 

 (C) 5 sr RNA ¼5 ,l vkj vkj ,u ,½  

(D) sn RNA ¼,l ,u vkj ,u ,½ 

RNA polymerase III is not responsible for synthesis of which of the 

following ? 

 (A) hn RNA     (B) t RNA 

 (C) 5 sr RNA    (D) sn RNA 

26- neudkjh izksVhu ySd vkWisjku esa dgk¡ c¡/krk gS \ 

 (A) izpkyd LFky    (B) mUuk;d 

 (C) lajpukRed thu   (D) fu;ked thu 

 In Lac operon where does repressor protein bind ? 
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 (A) Operator    (B) Promoter 

 (C) Structural gene   (D) Regulator gene 

27- letkrh; lajpuk,¡ fdl izdkj dk fodkl fn[kkrh gSa \ 

 (A) vilkjh     (B) vfHklkjh 

 (C) lekukarj     (D) lkYVsVjh 

 Homologous structures show what type of evolution ? 

 (A) Divergent    (B) Convergent 

 (C) Parallel     (D) Saltatory 

28- fuEufyf[kr esa ls dkSu lfe"V esa vyhy vko`fr;ksa esa ifjorZu ykrk gS \ 

 (A) mRifjoÙkZu    (B) thu izokg 

 (C) vkuqoaf’kd fopyu   (D) mi;qZDr lHkh 

 Which of the following causes change in allele frequency in a 

population ? 

 (A) Mutation    (B) Gene flow 

 (C) Genetic drift    (D) All of the above 

29- fuEufyf[kr esa ls dkSu izkjafHkd izdwV gS \ 

 (A) AUG     (B) UUU 

 (C) UAG     (D) UGA 

 Which of the following is an initiation codon ? 

 (A) AUG     (B) UUU 

 (C) UAG     (D) UGA 
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30- fuEufyf[kr esa ls dkSu chekjh thok.kq }kjk gksrk gS \ 

 (A) VkbQkW;M     (B) eysfj;k 

 (C) dksjksuk     (D) nkn 

 Which of the following diseases is caused by bacteria ? 

 (A) Typhoid    (B) Malaria 

 (C) Corona     (D) Ringworms 

31- fuEufyf[kr esa ls dkSu vkj ,u , nwr vkj ,u , dk iwoZorhZ gS \ 

 (A) ,l ,u vkj ,u ,   (B) 5 ,l vkj vkj ,u , 

 (C) fo"kekaxh dsanzdh; vkj ,u ,  (D) vkj vkj ,u , 

 Which of the following RNA is precursor of messenger RNA ? 

 (A) sn RNA     (B) 5 sr RNA 

 (C) Heterogenous nuclear RNA (D) r RNA 

32- fuEufyf[kr esa ls dkSu dksf’kdk jksxk.kqvksa dk Hk{k.k ugha djrs gSa \ 

 (A) c̀gn Hk{kdk.kq    (B) U;wVªksfQYl 

 (C) eksukslkbV~l    (D) vkj ch lh 

 Which of the following cell does not phagocytose pathogens ? 

 (A) Macrophages    (B) Neutrophils 

 (C) Monocytes    (D) RBC 

33- fuEufyf[kr esa izfrj{kh v.kq ds ckjs esa vlR; dFku dkSu gS \ 

 (A) izfrj{kh v.kq esa pkj iksyh isIVkbM J`a[kyk,a gSaA 

 (B) izfrj{kh v.kq esa nks y?kq ,oa nks nh?kZ Jà[kyk, gSA 
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 (C) izfrtu ca/ku LFky izfrj{kh v.kq ds nh?kZ J`¡[kyk esa gSA    

 (D) rjy izfrj{kk vuqfØ;k esa izfrj{kh v.kq curs gSaA 

 Which of the following is incorrect statement about antibody ? 

 (A) Four polypeptide chains are present in antibody molecule. 

 (B) There are two short and two long chains in antibody molecule. 

(C) Antigen binding site is present in heavy chain of antibody molecule. 

 (D) Antibody molecules are syntehsized in humoral immunity. 

34- fuEufyf[kr esa ls dkSu ikS/kk ekQhZu dk lzksr gS \ 

 (A) fudksfV;kuk VkscSDde   (B) iSisHkj lkseuhQsje 

 (C) /krwjk esVy    (D) ,sfjFkzkstkbye dksdk 

 Which of the following plant is the source of morphine ? 

 (A) Nicotiana tobaccum  (B) Papaver somniferum 

 (C) Datura metel    (D) Erythroxylum coca 

35- fuEufyf[kr esa ls fdl chekjh dk laØked :Ik thok.kqt gS \ 

 (A) eysfj;k     (B) Vk;QkbM 

 (C) ,M~l     (D) U;weksfu;k 

 Sporozoite is the infective stage of which of the following diseases ? 

 (A) Malaria     (B) Typhoid 

 (C) AIDS     (D) Pneumonia 

36- fuEufyf[kr esa ls fdl lw{ethoh dk iz;ksx ^fLol pht* rS;kj djus esa gksrk gS \ 

 (A) isfulhfy;e jksD;wQkVhZ   (B) izksfifu;kscSDVhfj;e 'kjeukbZ 
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 (C) ;hLV     (D) ySfDVd vEy thok.kq 

Which of the following micro-organisms is utilized to prepare “Swiss-

Cheese” ? 

 (A) Penicillium roqueforti  (B) Propionibacterium sharmanii 

 (C) Yeast     (D) Lactic acid bacteria 

37- fdUgksaus LFkkfir fd;k fd isfulhfyu ,d izHkko’kkyh izfrtSfod ¼,aVhck;ksfVd½ gS \ 

 (A) vysDtsaMj ¶ysfeax   (B) vUlZ~V psu ,oa gkoMZ ¶yksjh 

 (C) jkcVZ dksp    (D) ik’p~;j 

 Who established that penicillin is an effective antibiotic ? 

 (A) Alexander Fleming    

(B) Ernst Chain and Howard Florey 

 (C) Robert Koch 

 (D) Pasteur 

38- fuEufyf[kr esa ls dkSu izfrjksi ¼fujksi½ dks vLohd`r djrk gS \ 

 (A) dkf;dh; jks/k    (B) dksf’kdh; jks/k 

 (C) mikftZr izfrj{kk    (D) dksf’kdk ekf/;r izfrj{kk vuqfØ;k 

 Which of the following rejects graft / transplant ? 

 (A) Physiological barriers  (B) Cellular barriers 

 (C) Acquired Immunity   (D) Cell mediated Immunity 

39- ,Vyl 66 dk laca/k fuEufyf[kr esa ls fdl Qly ls gS \  

 (A) xsgw¡     (B) pkoy 
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 (C) eDdk     (D) VekVj 

 Atlas 66, is related to which of the following crop ? 

 (A) Wheat     (B) Rice 

 (C) Maize     (D) Tomato 

40- ,d gh uLy ds vf/kd fudVLFk lnL;ksa essa] 4&6 ihf<+;ksa dk laxe gksuk D;k dgykrk 

gS \ 

 (A) ladj.k     (B) var% iztuu 

 (C) cfg% iztuu    (D) cfg% ladj.k 

Mating of more closely related individuals within the same breed for 4-6 

generations is called as -  

 (A) Cross breeding   (B) Inbreeding 

 (C) Outbreeding    (D) Out crossing 

41- Mh ,u , ij fdl izdkj ds vkos’k gksrs gSa \ 

 (A) _.kkRed vkos’k    (B) /ku vkos’k 

 (C) dksbZ vkos’k ugha    (D) ifjorZu’khy 

 Which type of charges are present on DNA ?  

 (A) Negative charge   (B) Positive charge 

 (C) No charge    (D) Variable 

42- {kkyu D;k gS \ 

 (A) ,xjkst tsy ds VqdM+s ls Mh ,u , ds [k.M dks fudkyuk 

 (B) Mh ,u , [kaMks dks ìFkDd djuk  
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 (C) Mh ,u , dks Dyksfuax laokgd ls tksM+uk 

 (D) Mh ,u , dksss bfFkMh;e czksekbM ls vfHkjaftr djuk 

 What is elution ? 

 (A) Extraction of DNA fragment from the agarose gel pieces   

 (B) Separation of fragments of DNA 

 (C) Ligating DNA with cloning vector 

 (D) Staining DNA with ethidium bromide  

43- fuEufyf[kr esa ls fdl izfØ;k ls Mh ,u , [kaM dks thok.qk esa izos’k djkrs gSa \ 

 (A) lw{e var% {ksiu    (B) :ikUrj.k 

 (C) thu xu     (D) Vh Mh ,u , dh enn ls 

Which of the following processes is utilized to introduce DNA fragment 

into bacteria ? 

 (A) Micro-injection   (B) Transformation 

 (C) Gene gun    (D) With the help of T.DNA 

44- thok.kq dksf’kdk dks Mh ,u , ysus gsrq l{ke cukus gsrq D;k fd;k tkrk gS \ 

 (A) thok.qk dksf’kdk dks f}latks;u /kuk;u ls lalkf/kr djuk 

 (B) thok.kq dksf’kdk dks f}latks;u _.kk;u ls lalkf/kr djuk 

 (C) thok.kq dksf’kdk ,oa iqu;ksZxt Mh ,u , dks cQZ ij j[kuk 

 (D) thok.kq dksf’kdk dks rki iz?kkr nsuk 

 What is done to make bacterial cell competent to take up DNA ? 

 (A) Treating bacterial cell with divalent cation. 
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 (B) Treating bacterial cell with divalent anion. 

 (C) Incubating bacterial cell and recombinant DNA on ice. 

 (D) Exposing bacterial cell to heat shock. 

45- Mh ,u , ds ìFkDdj.k esa 'kksf/kr Mh ,u , dk vo{ksi.k gsrq D;k feykrs gSa \ 

 (A) esFkkukWy     (B) dSfYl;e 

 (C) izksVh,t     (D) bFksukWy 

What is added for precipitation of purified DNA during isolation of DNA? 

 (A) Methanol    (B) Calcium  

 (C) Protease    (D) Ethanol 

46- pBR 322 esa izfrcaf/kr LFky- Bam H 1 dgk¡ gksrk gS \ 

 (A) ,Eihlhfyu izfrjks/kh thu  (B) Ori 

 (C) VsVªklkbfDyu izfrjks/kh thu  (D) rop 

 Where is the recognition site - Bam H 1 present in pBR322 ? 

 (A) Ampicillin resistance gene (B) Ori 

 (C) Tetracycline resistance gene (D) rop 

47- fuEufyf[kr esa ls dkSu pBR 322 esa oj.k;ksX; fpàd gS \ 

 (A) tetR thu     (B) ampR thu 

 (C) (A) ,oa (B) nksuksa   (D) dksbZ ugha 

 Which of the following is selectable marker gene in pBR322 ? 

 (A) tetR gene    (B) ampR gene 

 (C) Both A and B    (D) None 
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48- fuEufyf[kr esa ls fdldh vko’;drk ih lh vkj esa ugha gksrh gS \ 

 (A) izkbelZ      (B) Mh ,u , ikWyhesjst  

 (C) MhvkDlhjkbcksU;wfDy;ksVkbM  (D) Dyksfuax laokgd 

 Which of the following is not required for PCR ? 

 (A) Primers     (B) DNA polymerase 

 (C) Deoxyribonucleotides  (D) Cloning vector 

49- dikl ds eqdqy d`fe dks fu;af=r djus okyk ;kSfxd fuEufyf[kr esa ls dkSu gS \ 

 (A) ØkbZ 1AC ,oa ØkbZ 2AB }kjk dwVc) izksVhu 

 (B) ØkbZ 1 AB }kjk dwVc) izksVhu 

 (C) vkWikbUl uked ,ehuks vEy 

 (D) iquk;ksZxt izksVhu 

 Which of the following compounds controls the cotton bollworms ? 

 (A) Proteins encoded by cry1AC and cry2AB   

 (B) Protein encoded by cry1AB 

 (C) Amino acids known as Opines 

 (D) Recombinant protein 

50- fuEufyf[kr esa ls dkSu ekuo izksVhu ikjthoh xk; ^jksth* ds nw/k esa mifLFkr gS \  

 (A) vYQk ySDV,Ycqfeu   (B) g~;wfefyu 

 (C) XykbdksizksVhUl    (B) chVk xSysDVkslkbMst 

Which of the following human protein is present in milk of transgenic 

cow ‘Rosie’ ? 
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 (A) Alpha lactalbumin   (B) Humulin 

 (C) Glycoproteins   (D) Beta galactosidase 

51- xksYMsu pkoy fuEufyf[kr esa ls fdlesa le)̀ gS \ 

 (A) foVkfeu B1    (B) foVkfeu B2 

 (C) foVkfeu C    (D) foVkfeu A 

 Golden rice is rich in which of the following ? 

 (A) Vitamin B1    (B) Vitamin B2 

 (C) Vitamin C    (D) Vitamin A 

52-  fuEufyf[kr esa ls dkSu th ,e ikS/kksa dk ykHk ugha gS \ 

 (A) vtSo izfrcyksa ds izfr vf/kd lfg".kq Qlyksa dk fodkl 

 (B) ihM+duk’kh izfrjks/kh Qly dk fodkl 

 (C) [kkn~; inkFkksZa ds iks"kf.kd Lrj esa ò`f) 

(D) dkf;d ladj.k dks vklku cukuk 

 Which of the following is not an advantage of GM crops ? 

 (A) Development of crops more tolerant to abiotic stresses 

 (B) Development of pest resistant plants 

 (C) Increase in nutritional value of food 

 (D) To make somatic hybridization easy 

53- fuEufyf[kr essa ls fdl ekuo jksx ds fy, ijthoh uewus miyC/k ugha gS \ 

 (A) dSalj     (B) flLVhd Qkbczksfll 

 (C) vytkbej    (D) eysfj;k 
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For which of the following human diseases, transgenic model is not 

available ? 

(A) Cancer     (B) Cystic fibrosis 

(C) Alzheimer    (D) Malaria 

54- fuEufyf[kr esa ls fdl fdLe ij 1977 esa ,d vejhdh daiuh us ,dLo vf/kdkj izkIr 

dj fy;k Fkk \ 

 (A) vkb vkj 8    (B) t;k 

 (C) in~ek     (D) cklerh dh v)ZckSuh fdLe 

On which of the following varieties an American Company got patent 

rights in 1977 ? 

 (A) IR 8     (B) Jaya 

 (C) Padma     (D) Semi-dwarf variety of Basmati 

55- fuEufyf[kr esa ls dkSu dFku vuqokaf’kd fufeZr balqyhu ds ckjs esa vlR; gS \  

(A) balqfyu dh J̀a[kyk A ,oa B ds fuekZ.k gsrq vyx&vyx Mh ,u , vuqØeksa dk 

la’ys"k.k    

(B) J`a[kyk A ,oa B ds fy, Mh ,u , vuqØe dks bZ0 dksykbZ ds IyktfeM ls tksM+k 

x;k 

 (C) J`a[kyk A ,oa B dk vyx&vyx la’ys"k.k 

 (D) J`a[kyk A ,oa B dks gkbMªkstu ca/kuksa ls tksM+dj ekuo balqfyu cuk;k x;k 

 Which of the following statement is incorrect about synthesis of 

genetically engineered insulin ? 
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 (A) Synthesis of separate DNA sequences for chain A and B of insulin 

 (B) DNA sequences for chain A and B were ligated with plasmid of 

E.coli 

 (C) Separate synthesis of chain A and B 

 (D) Chain A and Chain B were linked with hydrogen bonds to form 

human insulin. 

56- fuEufyf[kr esa ls fdl {ks= ls ,e- ,l- LokehukFku dk uke tqM+k gS \ 

 (A) ikfjfLFkfrdh    (B) tSo izkS|ksfxdh 

 (C) gfjr Økafr    (D) nqX/k mRiknu 

Name of M. S. Swaminathan is associated with which of the following 

fields ? 

 (A) Ecology    (B) Biotechnology  

 (C) Green revolution   (D) Milk production 

57- fuEufyf[kr esa ls dkSu Hkkjr ds eq[; thokse ¼ck;kse½ esa 'kkfey ugha gS \ 

 (A) m".k dfVca/kh izpqj o"kkZ ou  (B) i.kZikrh ou 

 (C) jsfxLrku     (D) ?kkl LFky 

 Which of the following is not included in main biomes of India ? 

 (A) Tropical rain forest   (B) Deciduous forest 

 (C) Desert biome    (D) Grass lands 

58- tho tks rkieku dh O;kid lhek dks lgu dj ldrss gSa] mUgsa D;k dgrs gSa \  

 (A) ìFkqrkih     (B) ruqrkih 
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 (C) vlerkih     (D) fu;rrkih 

Organisms that can tolerate a variable wide range of temperatures are 

called as - 

 (A) Eurythermal    (B) Stenothermal 

 (C) Cold blooded    (D) Warm blooded  

59- fuEufyf[kr esa ls dkSu lef"V@tula[;k dk xq.k ugha gS \ 

 (A) fyax vuqikr    (B) lef"V ?kuRo 

 (C) tUe nj     (D) ÅtkZ izokg 

 Which of the following is not an attribute of population ? 

 (A) Sex ratio    (B) Population density 

 (C) Birth rate    (D) Energy flow 

60- 1920 esa vkLVªsfy;k esa dkSu ls ikS/ks dks ykus ds ckn yk[kksa gsDVs;j iz{ks= esa rckgh epk 

nh Fkh \ 

 (A) ukxQuh     (B) ikjFksfu;e 

 (C) tydqEHkh     (D) ySUVkuk 

Which plant was introduced in Australia in 1920 which caused havoc in 

millions of hectares of rangeland ? 

 (A) Prickly pear cactus   (B) Parthenium 

 (C) Water hyacinth   (D) Lantana  

61- Li/khZ viotZu fu;e fdUgksaus izfrikfnr fd;k \ 

 (A) eSd vkFkZj    (B) xkWl 
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 (C) dkWusy     (D) MkfoZu 

 Who propounded Competitive Exclusion Principle ? 

 (A) Mac Arthur    (B) Gause 

 (C) Connell     (D) Darwin 

62- fuEufyf[kr esa ls dkSu lgksidkfjrk dk mnkgj.k ugha gS \ 

 (A) cxqyk ,oa pkj.k i’kq   (B) ykbdsu 

 (C) dod ewy    (D) vathj ,oa cjZ dk laca/k 

 Which of the following is not an example of mutualism ? 

 (A) Cattle egret and cattle   

(B) Lichen 

 (C) Mycorrhiza     

(D) Relationship between fig and wasp 

63- fuEufyf[kr essa fdl i{kh esa vaM ijthfork fn[krh gS \  

 (A) xkSjS;k     (B) dcwrj 

 (C) dks;y     (D) eqxhZ 

In which of the following birds, brood parasitism is observed ? 

(A) Sparrow    (B) Pigeon  

(C) Cuckoo     (D) Hen 

64- fuEufyf[kr esa ls dkSu dFku vlR; gS \ 

 (A) Loiks"kh] vkdkcZfud rRoksa dks dkcZfud rRoksa esa lw;Z dh fofdj.k ÅtkZ ds mi;ksx 

ls cnyrs gSaA 
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 (B) ÅtkZ dk izokg o`Ùkh; gSA 

 (C) ijiks"kh Loiks"kh dk Hk{k.k djrs gSaA 

 (D) vi?kVd e`r thoksa dh lkefxz;ksa dk vi?kVu djrh gSaA 

 Which of the following statements is incorrect ? 

 (A) Autotrophs convert inorganic into organic material with the help of 

the radiant energy 

 (B) Energy flow is circular 

 (C) Heterotrophs feed on autotrophs 

 (D) Decomposers, decompose matter of dead organisms. 

65- Hkkjr esa vke dh fdruh fdLesa ik;h tkrh gSa \ 

 (A) 50 gtkj ls T;knk   (B) 1000 ls T;knk 

 (C) 10 gtkj ls T;knk   (D) 3000 ls T;knk 

 How many varieties of mangoes are found in India  ? 

 (A) More than 50,000   (B) More than 1,000 

 (C) More than 10,000   (D) More than 3,000  

66- vkbZ ;w lh ,u dss vuqlkj i`Foh ij tarq ,oa ikniksa dh iztkfr;ksa dh dqy la[;k 

fdruh gS \ 

 (A) 1-5 fefy;u ls FkksM+k T;knk  (B) 7 fefy;u 

 (C) 20&25 fefy;u    (D) 3 fefy;u 

According to IUCN, how many animal and plant species occur on earth 

? 
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 (A) Slightly more than 1.5 million (B) 7 million 

 (C) 20-25 million    (D) 3 million 

67- fVyeSu ds iz;ksxksa dk laca/k fuEufyf[kr esa ls fdlls gS \ 

 (A) laj{k.k     (B) tkrh; fofo/krk dk ikfjra= essa egRo 

 (C) ÅtkZ izokg    (D) tSo fofo/krk 

 Tilman’s experiments are related to which of the following ? 

 (A) Conservation     

(B) Significance of species diversity in ecosystem 

(C) Energy flow   

(D) Bio-diversity 

68- LVhyj leqnzh xk; ds foyksiu dk eq[; dkj.k D;k gS \ 

 (A) vkoklh; {kfr ,oa fo[kaMu  (B) vfrnksgu 

 (C) fons’kh tkfr;ksa dk vkØe.k  (D) lgfoyqIrrk 

 What is the main reason for extinction of Steller’s sea cow ? 

 (A) Habitat loss and fragmentation (B) Over explotation 

 (C) Alien species invasion  (D) Coextinction 

69- mRizsjd ifjoÙkZd esa fuEufyf[kr esa ls dkSu /kkrq ugha yxk gksrk gS \ 

 (A) IySfVue     (B) iSysfM;e  

 (C) jksfM;e     (D) iksyksfu;e 

 Which of the following metals is not utilized in catalytic converters ?  

 (A) Platinum    (B) Palladium 
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 (C) Rhodium    (D) Polonium  

70- fuEufyf[kr esa ls dkSu dFku dhVuk’kd@ihM+duk’kh ds iz;ksx ds ckjs essa vlR; gS\ 

 (A) Qly mRiknu c<+kus ds fy, iz;ksx (B) vy{; thoksa dks gkfu ugha 

 (C) tSo vko/kZu    (D) ihM+duk’kh ds iz;ksx esa dbZ xquk o`f) 

Which of the following statements is incorrect about use of pesticides? 

 (A) Used for enhancing crop production 

 (B) Not harmful for non-target organisms 

 (C) Bio-magnification  

 (D) Manifold increase in use of pesticides 

Section-B 

Short Answer Type Questions

iz’u la[;k 1 ls 20 y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 2 vad 

fu/kkZfjr gSaA         10x2=20 

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.      10x2=20 

1- dkf;d izo/kZu dk D;k egRo gS \       2 

What is the significance of vegetative propagation ? 

2- Hkzw.kiks"k D;k gS \ blds dkSu&dkSu izdkj gS \    2 
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What is Endosperm ? What are its types ? 

3- ljVksyh dksf’kdkvksa ,oa yhfMx dksf’kdkvksa dk dke] D;k gS \  2 

What are the roles of Sertoli cells and Leydig cells ? 

4- vkbZ ;w Mh ¼IUDs½ xHkZ /kkj.k dks dSls jksdrs gSa \    2 

How IUDs (Intrauterine Contraceptive Devices) prevent pregnancy 

?. 

5- lgizHkkfork D;k gS \ mnkgj.k dh lgk;rk ls laf{kIr O;k[;k djsaA 2 

What is Codominance ? Explain with the help of example, briefly. 

6- oa'kkxfr dk xq.klw= fl)kar D;k gS \     2 

What is Chromosomal theory of inheritance ? 

7- gheksQhfy;k ij laf{kIr fVIi.kh fy[ksaA     2 

Write a brief note on Haemophilia.  

8- U;wfDy;kslkse dh lajpuk dh O;k[;k djsaA     2 

Explain the structure of Nucleosome. 

9- laLFkkid izHkko D;k gS \       2 

What is founder effect ? 

10- IykteksfM;e dk laØe.kdkjh izkoLFkk] blds osDVj ,oa yky jDr dksf’kdkvksa ds 

VwVus ds ckn tks fo"kkDr inkFkZ fudyrk gS mudk  uke fy[ksaA    2 

Write down the name of infective form of Plasmodium and name of 

its vector and the toxic substance released after rupture of RBCs. 

11- esVkLVsfVl D;k gS \           2 
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What is Metastasis ? 

12- drksZrd ,oa iw.kZ’kDrrk dks ifjHkkf"kr djsaA         2 

Define explants and totipotency. 

13- dodewy ij laf{kIr fVIi.kh fy[ksaA         2 

Write a brief note on Mycorrhiza. 

14- izfrca/ku ,.MksU;wfDy;st dks vkf.od dSaph D;ksa dgrs gSa \ O;k[;k djsaA    2 

Why is restriction endonuclease called as ‘molecular scissors’ ? 

Explain.  

15- th&,e Qlyksa (GM-crops) ds D;k ykHk gSa \       2 

What are advantages of GM-crops (Genetically Modified Crops)? 

16- dikl ckWyokeZ dks fu;af=r djus okys thu ,oa izksVhu dk uke D;k gS \ 2 

What is the name of genes and proteins which control cotton 

ballworm ? 

17- mijfr ¼Mk;ikWt½ ,oa 'khr funzk ¼gkbcjus’ku½ dks ifjHkkf"kr djsaA      2 

Define diapause and hibernation.  

18- vi?kVu ij laf{kIr fVIi.kh fy[ksaA      2 

Write a brief note on decomposition. 

19- LFkkfud ¼,.Msfed½ iztkfr D;k gSa \      2 

What is an endemic species ? 

20- ikWyhCys.M D;k gS \ bls fdlus fodflr fd;k \    2 

What is Polyblend ? Who developed it ? 
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Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; iz’u gSaA fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd iz’u ds 

fy, 5 vad fu/kkZfjr gSaA mÙkj vf/kdre 120 'kCnksa esa gksuk pkfg,A 3x5=15 

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any three 

questions. Each question carries 5 marks. Give your answer in about 120 

words.          3x5=15 

21- xzhugkml izHkko dks ifjHkkf"kr djsaA xzhugkml xSlksa ds uke fy[ksa ,oa Hkwe.Myh; 

m"ek;u ij laf{kIr fVIi.kh fy[ksaA     5 

Define Greenhouse effect. Name Greenhouse gases and write a 

brief note on Global Warming.  

22- fuEufyf[kr iz’uksa ds mŸkj nsaA     2 x2½ ¾5 

(A) ÅtkZ izokg D;k gS \ 

(B) Ori D;k gS \ 

Answer the following questions : 

(A) What is energy flow ? 

(B) What is Ori ? 

23- laf{kIr fVIi.kh fy[ksa &       2 x2½ ¾5 

(A) osDVj ds :i esa IyktfeM 

(B) ikjthuh xk;&jksth 

Write a brief notes on – 

(A) Plasmid as vector 
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(B) Transgenic Cow - Rosie 

24- 'kjhj ds izfrj{kk ra= dk o.kZu djsaA      5 

Describe Immune System of Body. 

25- vkWisjku ekWMy D;k gS \ ySd vkWisjku dk o.kZu djsaA   5 

What is Operon model ? Describe Lac Operon. 

26- fuEufyf[kr ij laf{kIr fVIi.kh fy[ksa %&    ¼2x2½  = 5½ 

(A) mYcos/ku ¼,efu;kslsaVsfll½ 

(B)  vko`rchth ikS/kksa esa uj ;qXedksn~fHkn dk fodkl 

Write a brief notes on the following  

(A) Amniocentesis 

(B) Development of male gametophyte in angiospermic plants. 


